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Maint exp = (30000+20000)x.98x5% = 2450 
Cont Com = (30000+20000)x3% = 1500 
EQUP = 52000 – 42955 – 5742.1 – 2450 – 1500 =  -647.1 
Prem deficiency = 647.1 
 
b. 
Sample 1 
If we look at this line by line, the auto has higher loss ratios. Those lines could have negative EQUP which 
are being offset by positive EQUP in the personal property line. 
Sample 2 
In part (a) by aggregating all lines we remove the effect of profitable lines on the total. 
EQUPauto = 30,000x(1 - .95x.95 - .05 - .03 - .95x.95x.14x.98) = -3,190 
EQUPProp = 20,000x(1-.85x.82 – .05 - .03 - .85x.82x.14x.98) = 2.547 
Just using those 2 lines we can assume that the DPAE from Auto would offset EQUPAuto , bringing it back 
to zero. Then when adding it to EQUPProp we already have a large positive number (effect of FA would be 
negligible) instead of negative. 
 
Examiner’s report: 
a. Candidates scored well on this part. Because the Cantin & Trahin paper has a paragraph that 

incorrectly states that “…if the absolute value of the negative EQUP exceeds the deferrable 
expenses, a premium deficiency must be booked as a liability for the remaining deficiency”, marks 
were also awarded to students who answered that there was no premium deficiency. Also, the 
paper incorrectly says that discounting is not allowed if there is a premium deficiency, so marks 
were not removed for candidates who followed this reasoning. Some common errors were 
discounting the contingent commissions, including FA in the calculations of ULAE/commissions, or 
using the discount factors as discounted loss ratios. 

b. Most candidates only received part marks for this section, not putting enough detail for a 0.75 mark 
question. Some failed to specifically refer to this company and its lines of business to receive marks. 

 

Question 21 
Answer key: 
a.  
Investment Income in 2012 for AY 2010: 
(27,000+35,000)/2*4.00% = 1,240   
Investment Income in 2011 for AY 2010:  
(59,000 + 35,000) / 2 * 4.5% = 2,115    
Excess in 2012 for AY 2010: 
(35,000+1,240) – (27,000+18,000) = -8,760  
Excess in 2011 for AY 2010: 
(59,000 + 2,115) – (35,000 + 21,000) = 5,115   
Cumulative Excess(Deficiency) Ratio:        
 -(5,115 – 8,760) / 59,000 = -6.2% 
   
b.  
Discount the amounts in subsequent terms to time 0. It was enough for full marks to say to discount the 
claims liabilities back to time t-1 instead of incorporating investment income. 
Alternatively, calculate the present value of the cash flows from the calendar year. 
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Actual candidate answer for full marks: 
a 
Inv Income 2011 = 0.045(59000+35000)/2 = 2115 
Inv Income 2012 = 0.04(27000+35000)/2 = 1240 
Cumulative xs = Beg reserves – Paid + Inv income – End reserves 
           = 59000-(21000+18000)+(2115+1240)-27000 
           = -3645 
XS/Deficiency Ratio = -3645/59000 = -0.062 
 
b 
Use the present value @t=0 (ie end of 2010) of the discounted liabilities and the paid losses. 
 
Examiner’s report: 
a. Candidates scored well. Some errors included adding investment income from CY 2010, or forgetting 

to calculate the ratio itself once the excess/deficiency amount had been calculated. 
b. Candidates did not score well at all. Although many answers spoke about discounting, they did not 

include enough detail to indicate that the candidate meant that the discounting should be applied to 
the paid/outstanding at time t to bring it back to time t-1. 

 

Question 22 
Answer key: 
a.  
According to Canadian Income Tax Regulations, the income tax deduction in respect of an insurer’s claim 
liabilities is equal to 95% of the lesser of the reported reserve and claim liability.  The prepayment of tax 
as a result of the liability deducted for tax purpose being less than the amount reported on the balance 
sheet give rise to an asset for future income taxes.  
 
b. 
An omission, understatement or overstatement is material if it would cause the user to reach a different 
conclusion or follow a different course of action. 
 
c. 
Discounted Estimate of Claim Liability Including PfAD 
= 103,345 +500 +7,300 +4,000= 115,145< reported reserve = 120,000               ( 
 
Present Value Factor 
= (103,345 +500)/ 111,453= 0.9317 
                    
Estimated Effect of Discounting the Asset for Future Income Taxes 
= (120,000 – 0.95*115,145) * 35% * (1 – 0.9317) = 254  
 
Actual candidate answer for full marks: 
a) The future tax temporary difference arises from the fact that the deduction for tax purposes is less 

than the carried amount. Only 95% of either the reported reserve or liability is deducted, leaving a 
marginal tax difference. 




